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RULE #1: Every branch of a parallel structure must be
GRAMMATICALLY SIMILAR to all the others. You can
usually test this similarity by connecting each branch directly
with the trunk. If a branch doesn't fit, grammatically, with
the trunk, change the branch so that it does fit.

10. I hope to [discuss specialization of your test forms]
and then [considering revisions to your program].

The two branches are not grammatically alike; you cannot connect the

second branch to the trunk.

You wouldn't say "I hope to considering revisions to your program
and then discuss specialization of your test forms."

So you need to make the second branch consistent.
In this case, it is easiest to make the second branch begin with the same
grammatical form as the first branch, an infinitive ("to discuss").

10 b. Ihope to [discuss specialization of your test forms]
and then [consider revisions to your programy].
OR, better still:

10 c. TIhope [to discuss how we can specialize your test forms]
and  [to consider whether you want to revise your program].

11 a. Analysts are betting  [that EPCOT will top Disney's projection of 10 million]
and [an eight year investment payback].

Again, you cannot connect the second branch. You wouldn't write:
"Analysts are betting an

eight year investment payback. . ."

There are many possible revisions; one would be:

11 b. Analysts are betting  [that EPCOT will top Disney's projections of 10 million]

and [that the company will recover its investment in eight years].

For a successful parallel, repeating the same grammatical structure is
necessary, but it is not enough. Remember, the advantage of parallelism is
that readers can better focus on ideas because they process the repeated
structure so easily. Unfortunately, you can write a grammatically correct
parallel that is not easy to process.

This happens when the reader has to choose among more than one possible

repetition. If the reader has to stop to decide what is parallel to what, you
lose the advantage of parallelism.

Lecture 7 Opening Moves, Summary, Elegance

Page 6




RULE #2: If you can't tell INSTANTLY where each branch
begins and ends, change the branch to better signal the exact
parallel.

12 a. Some addresses may be shortened if the words are long or altered to correct
spelling errors.

We wonder: Is it words that are "long or altered"?
Or Is it the addresses that "may be shortened . . . or altered"?

12 b. Some addresses may be shortened if the words are long, or
may be altered to correct spelling errors.

Caution: Repeated grammatical forms (adjectives, infinitives, nouns, etc.)
work so well to signal a parallel that if you begin non-parallel elements with
the same form, readers will try to make those elements parallel.

Correct these faulty parallel structures:

13.  Press the shutter release button on top of the camera to expose the image onto the
film and advance the frame.

14.  The union leadership had proposed a three-year contract with cost of living
increases and members' freedom to resolve certain problems without management
or customer interference was rumored to be part of that contract.

15.  In our summer program, you can learn to train your dog to obey, to repair your car,
to cook like a gourmet, to take expert photographs, or to handle your finances.
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16.

16 b.

Since the advantage of parallelism is that readers are familiar with the
repeated structure, it makes sense to have the structure become clear as soon
as possible. The sooner readers see what the repeated structure is, the
sooner they can use the repetition. So:

RULE #3: Usually, put parallel structures late in the sentence,
and short brancw.

Parallel structures early in the sentence violate closure; remember that the
common cure for closure violations is the Agent-Action Rule:

We will [review your current records, reports and work flows,
[talk with your management,
and [survey your staff.

We will

survey your staff,

talk with your management,

and review your current records, reports and work flows.

Rewrite this long-to-short parallel structure:

17

18.

Anderson should write detailed instructions on interfacing the single-ply roofing on
various types of building, provide installation components, and train roofers in
installation.

Some proposals receive funding on the basis of their quality alone, but most are
funded because the applicants are able to communicate well with foundation
executives, respected, and influential.

(Note the "Usually" in Rule #3. Do not choose short-to-long order if it
violates a more important logical or chronological order. For example, if
you are describing four steps in a process, don't order them 3,1,4,2 just
because 3 has the shortest description and 2 has the longest.)
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Even when you put short branches before long ones, readers still must read
through to the "and" or the "or" before they can recognize that they are
reading a parallel structure. But there are some connectors that signal the
parallel even before the first branch. So:

RULE #4: Where you can, prepare your reader for a (long)
parallel by using paired connectors. The first connector
anticipates the parallel and so prepares the reader.

notX ..butY if not X ... at least Y either X ... orY
notonly X ... butalso Y both X ...and Y neither X ... nor Y
19 a.  We see Raskolnikov's desire to repent in the time and trouble he takes to prepare

19 b.

20 a.

20 b.

himself for civil confession and the complete guilelessness with which he obeys
Sonia's instruction to turn himself in.

We see Raskolnikov's overwhelming desire to repent, both in the time and trouble
he takes to prepare himself for civil confession, and in the complete guilelessness
with which he obeys Sonia's instruction to turn himself in.

At this point medicine has an opportunity for examining where we are going and
changing what we do for more effectively meeting our patients' needs.
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Balance

After you think about arranging branches, think about arranging the words
within each branch. In parallel branches or elsewhere, words that
correspond in position and/or function may also have similar or contrasting
meanings; this correspondence we call balance. The best writers use these
corresponding positions to liken and contrast. For example:

21. [Cook's expedition set sail in order to carry out astronomical
measurements from a new site on the globe: the south seas.] However,
the locations of the planets proved less interesting than the customs of the
Tahitians.

Readers balance "locations" against "customs” and "planets" against
"Tahitians."

22, A moderately bad man knows he is not very good; a thoroughly bad man
thinks he is all right.

23.  We do not know that the functions of the cooperating genes are
necessarily complementary. On occasion they might be physiologically
redundant.

In fact the best writers put the important balanced words in corresponding
parts--especially ends--of branches. This is just the "topic-stress" principle.

Here the two contrasting ideas aren't balanced:
24 a. In aflawed study, you may keep the idea alive by testing the data
differently or sometimes a different form of presentation can be employed.

BUT here "treat it" balances "present it."
24 b. In aflawed study, you may keep the idea alive if you use the same data
but change either the way you test it, or the way you present it.

Parallelism, Balance, Vivid Verbs, and Short-to-Long Order:

25.  Barton sees Shakespeare's plays as dramatizations of how language stifles
the imagination; trifles with nobility; palls before the complexity and
intensity of personal experience; and thwarts good intentions, or at least

fails to promote them.
Margreta DiGrazia
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